# SOURCE SELECTION MANATEE COUNTY GOVERNMENT SOURCE SELECTION

SUBJECT	Americans with Disabilities Act (ADA) Sidewalk Replacement (MCAT)	DATE POSTED	Date Posted on Mymanatee.org
PURCHASING REPRESENTATIVE	Olga Valcich, 749-3055	DATE CONTRACT SHALL BE AWARDED	3℃ January-29, 2013
DEPARTMENT	Walter Sowa, Sr. Engineering Specialist, Project Management Division, Public Works Department	CONSEQUENCES IF DEFERRED	N/A Mallo fo
SOURCE RECOMMENDATION	C-Squared Certified General Contractor, Inc., Bradenton, FL	AUTHORIZED BY DATE	Melissa M. Wendel, CPPO  Date /-24-20/3

#### **ACTION DESIRED**

Authorization to award RFQ #12-2471-OV, Americans with Disabilities (ADA) Sidewalk Replacement to the lowest responsive, responsible quoter, C-Squared Certified General Contractor, Inc., located in Bradenton, FL for a total quoted price of \$49,886.00.

#### **ENABLING/REGULATING AUTHORITY**

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.)

Manatee County Code of Law

#### **BACKGROUND/DISCUSSION**

- MCAT has requested the services of a contractor to furnish all labor, materials, equipment and incidentals required to upgrade six (6) Manatee County Bus Stop Sidewalks to conform to Federal ADA Requirements.
- The project is funded by the Federal Transit Administration and American Recovery and Reinvestment Act (ARRA) of 2009.
- 11/16/2012 to 12/7/2012 nine (9) contractors were emailed copies of the Request for Quotation. Notice of quote availability was posted on the Manatee County website and the Chamber of Commerce.
- Five (5) quotes were received and forwarded to Project Management for review and recommendation.
- Below is a summary of the quotes received:

Vendor:	Quote "A"	Quote "B"
*** LAS Contracting Corp., Tampa, FL	\$44,455.00	\$44,455.00
C-Squared Certified General Contractor, Inc.,		
Bradenton, FL	\$49,886.00	\$49,886.00
Southeastern Site Development, Sarasota, FL	\$67,073.01	\$67,073.01
Oneco Concrete & Asphalt, Inc., Oneco, FL	\$69,078.20	\$68,978.20
Canio Construction, Holmes Beach, FL	\$69,100,00	\$69,100.00

- Project Management Division reviewed the quotes received, provided tabulation and recommended the award to the 2<sup>nd</sup> low bidder, C-Squared Certified General Contractor, Inc., Bradenton, FL for a total quoted price of \$49,886.00, based on Quote "A" with a construction completion time of 60 calendar days.
- \*\*\*Pursuant to the "Qualifications of the Quoter", LAS Contracting Corp., of Tampa, FL was deemed non-responsive.

SOURCE (ACCT# & NAME)

(ATTACH FISCAL IMPACT

STATEMENT) N/A

**AMT./FREQ. OF RECURRING COSTS** 

COST \$49,886.00

COMMENTS

#### RFQ #12-2471-OV PROJECT NO. 436-9008930

## AMERICAN WITH DISABILITIES ACT (ADA) SIDEWALKS, TRANSIT BUS STOP UPGRADES QUOTE "A"

					l	2	2		3	4		5			
	QUOTE "A"			LAS Contra		C-Squared			te Development	Oneco Concrete		Canio Construction			
				13701 North Net		3547 53rd Aver		8	nus Circle	P.O. Bo Oneco, F	E E	3230 East Bay Drive, #305 Holmes Beach, FL 34217			
	60 CALENDAR DAYS			Tampa, F (Hillsborou		Bradenton, (Manatee		Sarasota, (Sarasota	r L 34240 i, County)	(Manatee		(Manatee County)			
item	1	T	T	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit Extended			
No. Part No.	Line Item	Unit	Qty		Price	Price	Price	Price	Price	Price	Price	Price	Price		
1 0101-1	Mobilization	LS	a commence	\$3,000.00	\$3,000.00	\$3,000,00	\$3,000,00	\$9,522.00	\$9,522.00	\$18,000,00	\$18,000.00	\$5.250.00	\$5,250.00		
2 0102-1	Maintenance of Traffic	LS	-B	\$3.000.00	\$3.000.00	\$3,000,00	\$3,000.00	\$5,630.00	\$5.630.00	\$3,225.00	\$3,225.00	\$3,950.00	\$3,950.00		
3 102-911-2	Pavement Marking Removal	SF	361		\$1.083.00	\$3.00	\$1,083.00	\$8.86	\$3,198.46	\$2.25	\$812.25	\$9.00	\$3,249.00		
4 0110-4	Removal of existing Concrete Pavement	SY	65	\$26.00	\$1,690.00	\$50.00		\$116.00	\$7,540.00	\$37.25	\$2,421.25	\$45.00	\$2,925.00		
5 0104-10-3	Sediment Barrier	LF	677	\$2.00	\$1,354.00	\$3.00	\$2,031.00	\$1.05	\$710.85	\$2.10	\$1,421.70	\$5.00	\$3,385.00		
6 0110-4	Type D Curb to be Removed	SY	4	\$15.00	\$60.00	\$100.00	\$400.00	\$112.00	\$448.00	\$67.50	\$270.00	\$45.00	\$180.00		
7 0120-1	Regular Excavation	CY	60	\$25.00	\$1,500.00	\$50.00	\$3,000.00	\$45.00	\$2,700.00	\$45.00	\$2,700.00	\$80.00	\$4,800.00		
8 0120-6	Embankment	CY	88	\$22.00	\$1.936.00	\$30.00	\$2,640.00	\$95.00	\$8,360.00	\$22.00	\$1,936.00	\$36.00	\$3,168.00		
9 0400-1-2	Type D Curb Concrete Class I	CY	3	\$28.00	\$84.00	\$300.00	\$900.00	\$283.00	\$849.00	\$751.00	\$2,253.00	\$490.00	\$1,470.00		
10 0400-1-25	Trench Drain Concrete Class I	CY	2	\$600.00	\$1,200.00	\$2,000.00	\$4,000.00	\$880.00	\$1,760.00	\$1,150.00	\$2,300.00	\$2,350.00	\$4,700.00		
11 MC-XXX	Reconstruct Grate Inlet	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,800.00	\$2,800.00	\$3,350.00	\$3,350.00		
12 43017420	14" x 23" ERCP	LF	59	\$89.00	\$5,251.00	\$65.00	\$3,835.00	\$53.42	\$3,151.78	\$53.50	\$3,156.50	\$98.00	\$5,782.00		
13 40398462	Mitered End Section Optional - Elliptical 14" x 23"	EA	1	\$475.00	\$475.00	\$900.00	\$900.00	\$1,456.00	\$1,456.00	\$1,400.00	\$1,400.00	\$2,650.00	\$2,650.00		
14 0520-1-7	Concrete Curb and Gutter, Type "E"	LF	45	\$22.00	\$990.00	\$40.00	\$1,800.00	\$22.00	\$990.00	\$55.00	\$2,475.00	\$39.00	\$1,755.00		
15 0520-1-10	Concrete Curb and Gutter, Type "F"	LF	21	\$24.00	\$504.00	\$40.00	\$840.00	\$21.00	\$441.00	\$45.50	\$955.50	\$39.00	\$819.00		
16 0522-1	Sidewalk Concrete, 4" Thick	SY		\$45.00	\$5,670.00	\$30.00	\$3,780.00	\$38.32	\$4.828.32	\$63.00	\$7,938.00	\$38.00	\$4,788.00		
17 522-2	Sidewalk Concrete, 6" Thick	SY	122	\$54.00	\$6,588.00	\$36.00	\$4,392.00	\$46.80	\$5,709.60	\$62.00	\$7,564.00	\$42.00	\$5,124.00		
18 0570-1-2	Performance Turf, Sod	SY	430	\$5.00	\$2,150.00	\$4.50	\$1,935.00	\$2.10	\$903.00	\$3.00	\$1,290.00	\$6.50	\$2,795.00		
	SUBTOTAL ROADWAY				\$38,035.00		\$42,286.00		\$59,698.01		\$62,918.20		\$60,140.00		
SIGNAGE & PA	EMENT AND MARKINGS														
19 700-20-40	Single Post Sign, Relocate	AS	7	\$100.00	\$700.00	\$200.00	\$1,400.00	\$125.00	\$875.00	\$50.00	\$350.00	\$300.00	\$2,100.00		
20 0711-1112	Thermoplastic Standard, White Solid, 12"	LF	60	\$12.00	\$720.00	\$20.00	\$1,200.00	\$25.00	\$1,500.00	\$13.50	\$810.00	\$31.00	\$1,860.00		
	SUBTOTAL SIGNAGE & PAVEMENT & MARKINGS				\$1,420.00		\$2,600.00		\$2,375.00		\$1,160.00		\$3,960.00		
ne promine and complete the construction of th	OVERALL SUBTOTAL				\$39,455.00		\$44,886.00		\$62,073.01		\$64,078.20		\$64,100.00		
	DISCRETIONARY				\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00		
	QUOTE "A" - 60 CALENDAR DAYS				\$44,455.00		\$49,886.00		\$67,073.01		\$69,078.20		\$69,100.00		
	Subcontractor's Percentage Quote Form Completed			No	)	Ye	s	Ye	s	Yes	;	Yes	5		
	Acknowledged Addendum #1 and #2			Did not Ackn	owledge #2	Ye	S	Ye	s	Yes		No			
	WBE/MBE Vendor			No	No			No	,	Yes(Certified by Florida throu		Yes	5		
	Site Visit		A STATE	Yes		Ye	s	Ye	s	Yes		Yes	5		
	Submitted Buy America Certification			Ye:	Yes Yes		s	Ye	s	Yes		Yes	5		
	Florida Trench Safety Act			Ye:			s	Ye	5	Yes		Yes	3		
	Contractor's Questionnaire			Yes		Ye:	S	Ye	s	Yes		Yes	;		
	Public Contracting & Enviromental Crimes	ng & Enviromental Crimes		Yes		Ye:	s	Yes		Yes		Yes	i .		
	GC and / or Licenses Concrete Contractor			Apparent License to LA		GC / Verified - L	icense good	GC / Verified - I	· ·	Licensed Concre	te Contractor	General Contractor			

#### SUBCONTRACTOR PERCENTAGES

## RFQ #12-2471-OV PROJECT NO. 436-9008930 AMERICAN WITH DISABILITIES ACT (ADA) SIDEWALKS, TRANSIT BUS STOP UPGRADES QUOTE "A"

			White the contract was a series of the contract of								March 19 and 19					4	<b>分別的</b> 上 公司	A PROPERTY OF STREET				
QUOTE "A" 60 CALENDAR DAYS		LAS Contracting Corp. 13701 North Nebrasks Ave, #102 Tamps, FL 33613 (Hillsborough County)				C-Squared CGC, Inc. 3647 Sard Avenue West, #327 Bradenton, FL 34210 (Manatee County)				Southeastern Site Development 7556 Artenus Circle Sarasota, FL 34240 (Sarasota, County)					Oneco Concrete & Asphalt, Inc. F.O. Box 387 Oneco, FL 34264 (Manatee County)				Canio Construction 3230 East Bay Drive, #305 Hotnes Beach, FL 34217 (Manatise County)			
item No.	Part No.	Description	Description of Work by Subcontractor	10.00	Name & Con Information BE Subcontrac	of Work by		MBEWBE	Name & Contact Information of Subcontractor	Work by	10.20	MBE/WBE	Name & Contact Information of Subcontractor	Description of Work by Subcontractor	13	мвемве	Name & Contact Information of Subcontractor	Description of Work by Subcontractor		MBEWBE	Name & Contact Information of Subcontractor	
1	0101-1	Mobilization	1	T	1	1	1	1		-					Î		1			Î		
2	0102-1	Maintenance of Traffic						1	1			1				1						
3	102-911-2	Pavement Marking Removal				1		1							1	T				T		
4	0110-4	Memoral of existing Concrete Pavement		$\vdash$	1			1			<b> </b>				$\vdash$	1				·		
5	0104-10-3	Sediment Barrier		+	1		1				<b></b>	l			1	1						
6	0110-4	Type D Curb to be Removed		1				<b>†</b>														
7	0120-1	Regular Excavation	1	1				1				<u> </u>										
8	0120-6	Embankment			_		_	<del>                                     </del>				-			1	<b>†</b>						
9	0400-1-2	Type D Curb Concrete Class I								Finish Concrete & Form	100%		Garcia Concrete (Juan Garcia - 941-526-7507)									
10	0400-1-25	Trench Drain Concrete Class I																				
11	MC-XXX	Reconstruct Grate Inlet																				
12	430174201	14" x 23" ERCP						1														
13	403984629	Mitered End Sec. Optional - Elliptical 14" x 23"																				
14	0520-1-7	Concrete Curb and Gutter, Type "E"								Finish Concrete & Form	100%		Garcia Concrete (Juan Garcia - 941-526-7507)									
15	0520-1-10	Concrete Curb and Gutter, Type "F"								Finish Concrete & Form	100%		Garcia Concrete (Juan Garcia - 941-526-7507)									
16	0522-1	Sidewalk Concrete, 4" Thick								Finish Concrete & Form	100%		Garcia Concrete (Juan Garcia - 941-526-7507)									
17	522-2	Sidewalk Concrete, 6" Thick								Finish Concrete & Form	100%		Garcia Concrete (Juan Garcia - 941-526-7507)									
18	0570-1-2	Performance Turf, Sod	1																			
19	700-20-40	Single Post Sign, Relocate	1		1			1														
20	0711-11123	Thermoplastic Standard, White Solid, 12"				Striping	100%		Traffic Control Products													

#### QUOTE TABULATION

2.0

FOR

#### RFQ #12-2471-0V

#### PROJECT NO. 436-9008930 AMERICAN WITH DISABILITIES ACT (ADA) SIDEWALKS, TRANSIT BUS STOP UPGRADES

QUOTE "B" (OV)
BASED ON A COMPLETION TIME OF 90 CALENDAR DAYS

PREPARED BY: (Project Management)	Sherri Robinson, Assessment Coordinator	13/11/13
REVIEWED BY: (Project Engineer)	Chris Mowbray, P.E., Highway Engineering Div. Mgr.	1/22/13
PROJECT MANAGEMENT:	Watter Sowa, Sr. Engineering Specialist	1/21/13 Date
APPROVED BY: (Purchasing)	Olga Valcich, Contract Specialist	12/2/12 Data

#### RFQ #12-2471-OV PROJECT NO. 436-9008930

## AMERICAN WITH DISABILITIES ACT (ADA) SIDEWALKS, TRANSIT BUS STOP UPGRADES QUOTE "B"

						I.		2		3	T .	4	5		
		QUOTE "B" 90 CALENDAR DAYS			LAS Contra 13701 North Net Tampa, F	oraska Ave, #102 FL 33613	C-Squared 3547 53rd Aver Bradenton	nue West, #327 , FL 34210	7556 Artei Sarasota	ite Development mus Circle FL 34240	P.O. B Oneco,	e & Asphalt, Inc. lox 367 FL 34264	Canio Construction 3230 East Bay Drive, #305 Holmes Beach, FL 34217		
Item [			T	T	(Hillsborou Unit	The state of the s	(Manatee	The state of the s	And the second second second second	i, County)	diameter and the second	Extended	(Manatee County) Unit Extended		
	art No.	Line Item	Unit	Qty	Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Price	Price	Price	
Jacobs January	0101-1	Mobilization	LS		\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$9,522.00	\$9.522.00	\$17,900.00	\$17,900.00	\$5,250.00	\$5,250.00	
<del> </del>	0102-1	Maintenance of Traffic	LS	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$5,630.00	\$5,630.00	\$3,225.00	\$3,225.00	\$3,950.00	\$3,950.00	
J		Pavement Marking Removal	SF	361	\$3.00	\$1,083.00	\$3.00	\$1,083.00	\$8.86	\$3,198.46	\$2.25	\$812.25	\$9.00	\$3,249.00	
h	0110-4	Removal of existing Concrete Pavement	SY	65	\$26.00	\$1,690.00	\$50.00	\$3.250.00	\$116.00	\$7,540.00	\$37.25	\$2,421.25	\$45.00	\$2,925.00	
5 01	104-10-3	Sediment Barrier	LF	677	\$2.00	\$1,354.00	\$3.00	\$2,031.00	\$1.05	\$710.85	\$2.10	\$1,421.70	\$5.00	\$3,385.00	
6 0	0110-4	Type D Curb to be Removed	SY	4	\$15.00	\$60.00	\$100.00	\$400.00	\$112.00	\$448.00	\$67.50	\$270.00	\$45.00	\$180.00	
7 0	0120-1	Regular Excavation	CY	60	\$25.00	\$1,500.00	\$50.00	\$3,000.00	\$45.00	\$2,700.00	\$45.00	\$2,700.00	\$80.00	\$4,800.00	
8 0	0120-6	Embankment	CY	88	\$22.00	\$1,936.00	\$30.00	\$2,640.00	\$95.00	\$8,360.00	\$22.00	\$1,936.00	\$36.00	\$3,168.00	
9 04	400-1-2	Type D Curb Concrete Class I	CY	3	\$28.00	\$84.00	\$300.00	\$900.00	\$283.00	\$849.00	\$751.00	\$2,253.00	\$490.00	\$1,470.00	
10 04	400-1-25	Trench Drain Concrete Class I	CY	2	\$600.00	\$1,200.00	\$2,000.00	\$4,000.00	\$880.00	\$1,760.00	\$1,150.00	\$2,300.00	\$2,350.00	\$4,700.00	
11 M	1C-XXX	Reconstruct Grate Inlet	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,800.00	\$2,800.00	\$3,350.00	\$3,350.00	
12 430	0174201	14" x 23" ERCP	LF	59	\$89.00	\$5,251.00	\$65.00	\$3,835.00	\$53.42	\$3,151.78	\$53.50	\$3,156.50	\$98.00	\$5,782.00	
13 400	3984629	Mitered End Section Optional - Elliptical 14" x 23"	EA	1	\$475.00	\$475.00	\$900.00	\$900.00	\$1,456.00	\$1,456.00 \$990.00 \$441.00 \$4,828.32	\$1,400.00	\$1,400.00	\$2,650.00	\$2,650.00	
14 05	520-1-7	Concrete Curb and Gutter, Type "E"	LF	45	\$22.00	\$990.00	\$40.00	\$1,800.00	\$22.00		\$55.00	\$2,475.00	\$39.00 \$39.00	\$1,755.00 \$819.00	
15 05	520-1-10	Concrete Curb and Gutter, Type "F"	LF	21	\$24.00	\$504.00	\$40.00	\$840.00	\$21.00		\$45.50	\$955.50			
16 0	0522-1	Sidewalk Concrete, 4" Thick	SY	126	\$45.00	\$5,670.00	\$30.00	\$3,780.00	\$38.32		\$63.00	\$7,938.00	\$38.00	\$4,788.00	
17 :	522-2	Sidewalk Concrete, 6" Thick	SY	122	\$54.00	\$6,588.00	\$36.00	\$4,392.00	\$46.80	\$5,709.60	\$62.00	\$7,564.00	\$42.00	\$5,124.00	
18 05	570-1-2	Performance Turf, Sod	SY	430	\$5.00	\$2,150.00	\$4.50	\$1,935.00	\$2.10	\$903.00	\$3.00	\$1,290.00	\$6.50	\$2,795.00	
		SUBTOTAL ROADWAY				\$38,035.00		\$42,286.00		\$59,698.01		\$62,818.20		\$60,140.00	
SIGNAGE	E & PAVE	MENT AND MARKINGS													
19 70	0-20-40	Single Post Sign, Relocate	AS	7	\$100.00	\$700.00	\$200.00	\$1,400.00	\$125.00	\$875.00	\$50.00	\$350.00	\$300.00	\$2,100.00	
20 071	11-11123	Thermoplastic Standard, White Solid, 12"	LF	60	\$12.00	\$720.00	\$20.00	\$1,200.00	\$25.00	\$1,500.00	\$13.50	\$810.00	\$31.00	\$1,860.00	
		SUBTOTAL SIGNAGE & PAVEMENT & MARKINGS				\$1,420.00		\$2,600.00		\$2,375.00		\$1,160.00		\$3,960.00	
		OVERALL SUBTOTAL				\$39,455.00		\$44,886.00		\$62,073.01		\$63,978.20		\$64,100.00	
		DISCRETIONARY				\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00	
***************************************		QUOTE "B" - 90 CALENDAR DAYS				\$44,455.00		\$49,886.00		\$67,073.01		\$68,978.20		\$69,100.00	
		Subcontractor's Percentage Quote Form Completed			No		Ye:	s	Ye	s	Ye	s	Yes	5	
		Acknowledged Addendum #1 and #2	100		Did not Ackn	owledge #2	Yes	s	Ye	s	Ye	s	No		
		WBE/MBE Vendor			No Yes		No	,	No	)	Yes(Certified b		Yes		
		Site Visit					Yes	s	Ye	s	Ye		Yes	;	
		Submitted Buy America Certification			Yes	Yes		5	Ye	s	Ye	s	Yes		
		Florida Trench Safety Act		Yes	,	Yes	5	Ye	s	Ye	s	Yes			
	Contractor's Questionnaire Public Contracting & Environmental Crimes				Yes		Yes		Yes		Ye	s	Yes		
				Yes		Yes		Ye		Ye		Yes			
		GC and / or Licenses Concrete Contractor			Apparent License to LA	. , ,	GC / Verified - L through 8		GC / Verified - I through		Licensed Concr	ete Contractor	General Co	ntractor	

#### SUBCONTRACTOR PERCENTAGES

## RFQ #12-2471-OV PROJECT NO. 436-9008930 AMERICAN WITH DISABILITIES ACT (ADA) SIDEWALKS, TRANSIT BUS STOP UPGRADES QUOTE "B"

										152×15200 (m)	3	00.70 E.P. (1980 - 1987)	Mark to the latest and the	4	STATE OF THE REAL PROPERTY.						
QUOTE "B" 90 CALENDAR DAYS									A CONTRACTOR OF THE PARTY OF TH	1.000	the same of the same			Canio Construction							
		LAS Contracting Corp. 13701 North Nebraska Ave, #102 Tampa, FL 39813 (Hillsborough County)			3547 53rd Avenus West, #327 Bradenton, FL 34210 (Manatee County)				Southeastern Site Development 7556 Artemas Circle Sarasota, FL 34240 (Sarasota, County)				Oneci	32	30 East olmes I	Bay Drive, Beach, FL 3 stee County	#305 4217				
Item No.	Part No.	Description	Description of Work by Subcontractor	% MBEWB	Name & Contact Information of Subcontractor	Description of Work by Subcontractor		MBENNBE	Name & Contact Information of Subcontractor	Description of Work by Subcontractor		MBENVBE	Name & Contact Information of Subcontractor	Description of Work by Subcontractor		Name & Contact Information of Subcontractor	Description of Work by Subcontractor		MBEWBE	Name & Contact Information of Subcontractor	
1	and the second second	Mobilization	-	-	-	-	-	-	and the same of the same of		-	-		THE RESIDENCE OF THE		1		1	WITH THE SALE	Harmon Services and	
2		Maintenance of Traffic		1	-	-												$\vdash$	-		
3		Pavement Marking Removal		1	1							1						$\vdash$			
4		Removal of existing Concrete Pavement		1		<b>†</b>						1				1					
5		Sediment Barrier						-				-									
6	0110-4	Type D Curb to be Removed		-	<del>                                     </del>	<b>-</b>	_	-													
7	0120-1	Regular Excavation		-		<b></b>							-					$\vdash$			
8		Embankment		1	<del> </del>	<b></b>						-						-			
	0120-0	Cilibatikireta		<del>     </del>	<del> </del>											1		$\vdash$			
9	0400-1-2	Type D Curb Concrete Class I								Finish Concrete & Form	100%		Garcia Concrete (Juan Garcia - 941-526-7507)								
10	0400-1-25	Trench Drain Concrete Class I																			
11	MC-XXX	Reconstruct Grate Inlet			1																
12	430174201	14" x 23" ERCP																			
13	403984629	Mitered End Sec. Optional - Elliptical 14" x 23"			1																
14	0520-1-7	Concrete Curb and Gutter, Type "E"								Finish Concrete & Form	100%		Garcia Concrete (Juan Garcia - 941-526-7507)								
15	0520-1-10	Concrete Curb and Guttar, Type "F"								Finish Concrete & Form	100%		Garcia Concrete (Juan Garcia - 941-526-7507)								
16	0522-1	Sidewalk Concrete, 4" Thick								Finish Concrete & Form	100%		Garcia Concrete (Juan Garcia - 941-526-7507)								
17	522-2	Sidewalk Concrete, 6" Thick								Finish Concrete & Form	100%		Garcia Concrete (Juan Garcia - 941-526-7507)								
8	0570-1-2	Performance Turf, Sod	1								-	-			1						
9		Single Post Sign, Relocate					-				-	-									

ge 2 of 3 12/11/2012

Traffic Control Products

#### QUOTE TABULATION

FOR

#### RFQ #12-2471-0V

### PROJECT NO. 436-9008930 AMERICAN WITH DISABILITIES ACT (ADA) SIDEWALKS, TRANSIT BUS STOP UPGRADES

### QUOTE "B" BASED ON A COMPLETION TIME OF 90 CALENDAR DAYS

Page 3 of 3

100

12/11/2012